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2) Mount Everest is the highest peak in the Himalayas.

No article

A : Indefinite articles ‘a’ or ‘an’ are used when the noun is not specific.
‘Mount Everest’ is a proper noun and cannot be said to be an unspecific
thing. Therefore indefinite articles cannot be used with it; hence Option B and
C are incorrect. As per the rules of use of articles, definite article ‘the’ can be
used before a proper noun when it is qualified by an adjective or a defining
adjectival clause. In this question, the adjective ‘tallest’ is qualifying the noun
"'mountain’ but ‘Mount Everest’ is not qualified by any adjective, thus we
cannot use the Option A ‘the’ with it. Also as per the rules of use of articles,
the use of article is omitted before most proper nouns like names of people,
continents, countries, cities, individual mountains, islands etc. therefore we
can say Option D ‘No article’ is the correct answer.

3) The principal along with his students ---planting trees for two hours.

1) have been
) is

3) are

v 4) has been

N



AT : oS IPW sub & the principle | sub singular 28I1 verb 3 singular TJ|
I for two hours YRPICO IFTL present perfect continuous tense Q XA | SOF1R
ARG s IAR”Y expression AT has been|

4) The word 'permissive’ means

1) submissive
v 2) liberal

3) law-abiding

4) polite

T : Permissive TId Wqafo91 Some synonyms of Permissive are liberal,
broad-minded, open-minded, non-restrictive, free and easy easy-going etc.
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6) Price for bicycles can run Tk. 2,000.

1) as high for
2) as high to
v 3) as high as

4) so high as

AN : As high as Y 2R3 &% a1 A1 @Al (53 590 | Price for bicycles can run as
high as Tk. 2,000.
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8) He fathered the plan. Here the word ‘father' is

1) an adverb
v 2)averb

3) an adjective

4) a noun

I : Father =10 verb W92 noun ST T3 IRZM0 IO I | 247G I10Y father verb
0¥ I XA | 37018 verb 3T father U3 W GPICET 4R 31 2ARPEAR BB 237 |

9) Identify the correct sentence-

1
2
v 3
4

He is better and superior than me.
He is superior than and better to me.
He is better than and superior to me.
He is better and superior to me,

~— N N S

I : The correct sentence: He is better than and superior to me.
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11) Choose the correct sentence.

1) I have many works to perform
v 2) 1 have much work to perform

3) | have many work to perform

4) | have much works to perform

A : Work *=if6 uncountable number | &A1 W3 plural form @31 1B work - W3
[ uncountable determiner much IR 53| Fo1L 3T I - | have much
work to perform.
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13) Choose the correct alternative to correct the sentence. He to see
us if he had been able to do.

1) would may come
2) would come

3) may had come

v 4) would have come

N : If I sentence I Past Perfect Tense 30, O1Xd W*[ Clause T Perfect
Conditional (Subject + would /could /might + have + Past participle of verb)
A9 |

14) log , 64 + log 8 YT T PO?

1) 2
2) 128
3)7

v 4)9

Az log > 64 + log »8
= log »2° + log,23
=6*1 + 3*1

=9
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MW (X - y)2 = x2 - 2xy + y?
= (x* +y?) - 2xy
=18-2%x7

=18-14
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16) PRI HEIRF 43 FEI ST @1 IR BEEE R “ AR OR 73 3T ITRAPIATA
RSO TG 31 TR ?

AT : SO PrpT \3 93 TS KT 51237 28T R ' AN O/ 77 \ST6 SORAAT !
RRTTR - 1 DR MO 9 FIET ©ET TGS V0 WEIRK 3054 | IT13 BSAF K 824 T
AT PRXIR TS AT AT ST |
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I 2 AT Gifd, ISCHCA IR S = av'2

av2 =4v?2
=)a =4v2/N2
=)a=4

STOATR,, ISICHFCAI CFaD, a2 = 42= 16 I5F 9T
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1) PO
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3) ferfam

4) ITOR
AT : IO S8 FTRAR Organisation of the Petroleum Exporting Countries T
OPEC - I7 SR QLR TeTal Redn] SRiEo |

20) "Call to mind” means-

1) fantasize
2) request

v 3) remember
4) attend

74T : "Call to mind” means- to remember or cause to be remembered.

AT 1 TP X WY MO A1 GeADT T MM {77 |
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armam ; fofdsenfa = 357
WIS ATXRT QST = 3+7 = 10
A 1031 B <IiRE1T = 3/10%100%= 30%
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AT 2 VTS AR™2K ARTED SRS e foarar 595 | fumerk 938 ! 91696 OURE 7S
U AL DY 3 A7 LR Haqo & |
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) BR™TG
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4) 3-c33
T 2 FORCAT 1 WBGI 267 KT A TOw [T @0\SREL T, T 2R-IE S LT
AP FRRSTR @O\STCET 5T | D TATRIR Ty STG Q7L QAT S3f#f 1
BBREAE ACOTe JICER AP AT IR T BI6T M- 2MTd BT 27|
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27) Which one is a correct sentence?

1) Ten kilometers are too far to walk.

2) Every students are present today

3) Two-third of the students got degrees.
v 4) All the information is correct

141 : Correct sentence: All the information is correct
28) (Il TN fISTR ©fFf @ THOT b 3L TGS ¢ TS @D 55?2

b2+c?
b2=c?2+a?
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AT : TP T SOR GFead, FAASTRIGR S99y TG,
OGS = B, 2473
M, ¢ =a? + b?

29) The synonym of the word 'scanty’ is

v 1) meager
2) abundant
3) copious
4) ample

AT : Some common synonyms of scanty are meager, scant, skimpy, spare,
and sparse. Some common antonyms of scanty abundant, ample, bountiful,
copious, generous, liberal, plenteous, and plentiful.
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AT 2 TR SATGATZ R ST I6e1 P | T - I (S28br), HI AR (d8)
\3 T R BT (S0 | ST TR G A6 | SHTSIG BT O L Arbre Sams
Maeme d1d \3 3@ G Tree Without Roots AlCH 2RTRo 2 |

32) He prohibited me-

1
2
3
v 4

to do it

do it

in doing it
from doing it

S~— N N N

AN : Prohibit somebody from doing something WY IS @I g I (AP facgy
/ M9 T 3POT1R X[ from doing it 31|
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AT ; TROSTLT A1 ST §2 IR SRR 26 | RoTe 212/ A1 ST Il P | OF Do
J1RET SIS AT w-afD | NGBS (590) 5T TR I ST FRPIETO 2| I3 SF KO
SRFACT (S¢q) ARSI ARG ST APTHO 2 | TQAAHR ST HLAT 0t |
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4T : United Nations High Commissioner for Refugees IT UNHCR < 7&d
SPERETGA (SCAGR! | TIHfE UN W3 - 7o fao3uc, FAO -J3 @IH U3t OXFAM - @3
IO |
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T O B I DA, ATH = VX, r = OX
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39) 1971 S FGYa RO ORI Gy (T AN JRAORP B ATIRHO Bo 1 -

A+ IRATCCR FTOT 0o WHATHT BRAICA Glf 2 T TReAT 5 T, DIORT @57 \3 TR
R AT Tonfirs SN 31 2| ORI (IR . PIORT @S Y99 SER A8 Joa
JATECH 5D \3 3 98 IR L& IEA|

40) ReRe3d ar xR I

AT : T 2 TR T JAT AP A I | @ AR PRI PATEH 5 I AOR L& 2 O
Tofom 0T | Refeald ara X o1 27 oo |

41) - 4a 2 + 23a + 6 I3 TP (PIAL?

1) (6 -a) (4a-1)
v2)(6-a)da+1)
3)(@a-6)(4a-1)
4) (a-6)(4a +1)

AT : - 4a% + 23a + 6

= -(4a% - 23a - 6)
=-(4a%-24a+a-6)
=-{4a(a-6)+1(a-6)}
=-(a-6)(4a+1)

= (6-a) (4a + 1)



42) TR TIGCSR 2oL (@ICR AR Fo?

1) >30 f&5Q
2) vo [Gsq
3) »o [Gs
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AT : ATY FHTR faerer o6 =3 57a1d o, fawrer Afol Teee @IS 5ad | WRK
TR RoaIoR T8 1800 23T ARG IR AT = 1800/3 = 600

43) ldentify the correct passive form or “He made me laugh.”

1) I was made laughing with him.

v 2) 1 was made to laugh by him.
3) | was made laughing by him
4) | was made laugh by him.

14T : Causative verb & 0K passive voice - @< structure : ob & sub + was
+ causative verb - W< p.p. + to + W verb + by + sub & ob | A1 IFIA
passive form : | was made to laugh by him.

44) Reg Tremfd (oot S omed T 6T PIa-
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2) G TR
) 341d

v 4) J&AR
AT 1 3030 A WP GGCD TG @RI (G BRI P TFATE | GPID QT P dbr
feRe W TR MRS (O Be oM I, 1 RCIT @6 20 X014 | Q913 G TR ORETd |
S Beoma IR do WIEF b fAfeRia e, T ReIk @6 SR T4 | Yo ®IfEe <175 faferd
JIMESA B AT A AR DRETT OO, TN ROIRK GG DD XTO1*T | Q2R3 ICAZ ITANGT \3 51|
P D IATFCH BT IR AT PP 30 XTO1T \3 5T PIfee brw XFo1eT, 1 ReI< & 16 =3
XTOTRXT \3 {15 o1 |
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AT 1 Sae S 6o Regw ST oK QBB S250d XN G - 7, TRK QPG PTNT 6o T
ST | T ] IS T - TFATE, TGS, PTATGT, ST, PT5T \3 3o |

46) BN 171 M3 “11feTs 20 @Td B1ficy?-

AT : WBGIGP 191 M7 25 2 16 TR b BIRCY 1eTo 27| J1-1 57 STETSD Kood
PACO3 Q3 M BT | THCTH TR dIRIK SHARPSS \3 GRS SIS fad 1) sy | dvown e
AU TCoT AR st onfers =31

47) TR > T0d ROTR 3% 554

TN : A ST SRR JRUTR Ty YT SRR FRUATCT AR WO | AP IS 2 FJ
TS A1 R I WOIF | (TF4 - I3 > 994, ¥ > 479, Fd > 39, ¥ > 77|

48) ‘AP’ @Td *RIQoRA SRPHO AN?
1) face=z @e

)
v 2) SR QTS

3) SIS (AT

4) T3P AR M1

AT 2 SR TS - fC i | ST PP SPIA 9P AR AP FYRA BT - (P AL 5F
- 315

2R 5 - TG

TIRPCY 5C (T - &5Y
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4) Tl

AN ; ARG FAK AT 1Y |

ORI, BT, @ore, *nfesrd, et 3 FRAMR Fu) arg F19f |

31, \3TE, ICIGUT, FTOR, GN TR, 3ACHA \3 ISR TR T R |

FaR, Bener, e, e R, oo, I=mEms, IR,  @fers, F1areT,
TIH33T, RfGy, STeTrad arorojer, SIRard \3 STER G- 7" B |

50) MR RN SFHPIRA AU ALTAG] (P 2-

JTAT 2 HHAS FER F2d JRFYEI THT S0 AT Y5> (FERH (ST FRoRasid s1ioo oz
TP AV AT T BrOSmid WIRam | WK SRR Ao foreta g o7 giage
Iz |

51) Epicurism’- a3 Y1 #ffemT

1) S R™

2) fafsam
v 3) COIsK™M

4) B

TN : Epicurism Q310 /e | I1 gAY R (o1s/m |

52) JIRAICPT SIORI HLCH CHIG ST SR AT-

AT 2 ITLATRCR BTG SR (FTD TS T V¢ 0 | TSR SHIAR (O a1 ® S5
ST V00 UL TR Ty HLIRF© AT 5N ¢ofD |

53) U1 51 BT B AT514RI107 Y 2
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v 4) TR

AT 2 BT TIP SG B ISHRIOT O FTOT T (STT97d BT 20T | ©13 3P B0 PR |

54) IS0 @1 PR MR I5a1 FEA?

v 1) Reeris
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1A = oS FfeR o Sromadl 923aR AR s Wgaiiae Yoo RFIE Srszd
IR | O IR, TR \3 TRFT SRR 2 Ibdl PR | TOIIS MBS AP AR 7%
ORI GI¥ IS

55) :¢0° @I [ @19IE?

56) 3G O TOJIFK I | - The best translation is:

v 1) The authority took him to task.
2) The authorities took him to book.
3) The authorities blame him

4) The authority gave reins to him.

T : Take to task ' XS RIS 1| SEOATL 'PEHF OICP oIS K AT AP0 NP
WM T (V) The authorities took him to task.

57) FABTANG RPT A1 BIH TRIBO?-
1) o1
v 2) IEICORT
3) PCATOTH
4) TG

AT : IR AT ITOH TR T ISTT (SETR TRIBO F2FT 57, TN P T I \3 S
IO TSR ATSHTA! 21 | A7 AT AT #[G s | 07 TREE IQTT X=A (AP Yo 5.4, Tur
PACORT K I |




58) 153d «F ARSI 2

v 1) oA
2) 71a
3) IS
4) <

AT ; 253 Q9 AR P33 A1 e |

59) The verb form of 'deceit' is:

vl
2
3
4

deceive
decisive
deceitfully
deceitful

S~— N N N

M : Deceit( 29RM) - 3 verb form X deceive IR WY 2GRS AT, (i1 AT |

60) I T TES fid TR @1 ABACS SR BTa-

GIARTRAT
sffere TRt
ERISKIES]
GIRIES]

v

NN —

3

S
~— ~— ~— ~—

T : AR T2 FETa AP SRR Tff SRR (AORATS TREIR T FES d
TIRBIRK IARTIRAIS BTIPARS &rerd | f5fd 8 fBGTEa Yad HToMRAARSTe: XM [T FEA|

61) What would be the right synonym for 'Initiative' ?
1) apathy
2) indolence
v 3) enterprise
4) activity

M : OFEE enterprise <=L initiative O S NS IR | TH T FHAGET I 2476 |
self-motivation, resourcefulness, inventiveness, imagination, ingenuity,
originality, creativity, enterprise, drive, dynamism, ambition

62) x 3 -0.001 =0 XA X 2 QI T 30?

1) 1/100
2) 1/10



v 3) 100
4) 10

I :x 3-0.001=0
=>1/x3 =1/1000
=>1/x3=1/103

=>x3=103
=>x=10
=> x2 =100

64) The idiom put up with means

1
2
3
v 4

keep trust
protect

Stay together
tolerate

~— N N

AT : The idiom put up with means tolerate. 1 WY 513y 31|

65)(a+b),a2-b?2,a3-b3ads, N, 3IO?

1) a+b

2)0

3) a-b
vi)l

AR :H>FIR =a + b

AT =a2+b2 =(a + b) (a-b)
o¥AT=a3-b3 = (a-b) (a2 + ab + b?)
WO fAT .S = 1



66) AP0 I GRS WY

1) ETHRCH Sl
2) FAK Tl

v 3) Qa5 Ol
4) SOUR Sl

YT : ATPO XL GEISTO WY - TASR ST | ARPO A1 ARPO SR ATV O T AT 2Phod
Wi TSR FUF \3 @I4T ST | GPIRIT QAP0 TIEIR BRI [ifod Welere oSl , T4
TR SHRIK [fGTor T fog fog wot #iksaz 3 1 9 24po B wikeiers Riorer fac
Rifsg aica fofze =

67) Slow and steady the race.
1) win
v 2) wins
3) has won
4) won

AT : 'Slow and steady wins the race ' - TSR PR SRR NG T |

68) | have applied for the post of a Lecturer --English.

1) of

2) at
v 3)in

4) for

AN : Subject - UF *[J in preposition 0 I<=0 1 Ex: | have applied for the post
of a Lecturer in English.

69) 13f0 SR UK TS Q ;b I BICWR 71D, -0 e AN 730F 51503 F572

1)8

N

w
A o G

)
)
)
)

v

N

JTTAT : 57T 730 TATPCH ax Q3% brx
SR 5T, 3, S = X

g3 ", 3, B = @Y X

PPIHD, CUX = O

1, X = po/@Y =



70) o I #{(ad IAGH 8 BT, v I2K [ TR0 I3 (@< IIGK So 3 fzeT | a1 \3 sy
IO IAGK WIATO O ?

v

A W

R

)8 S
)> .8
JACEERY

AT : 4R, SR IO IS X I, ; [MOR I5T1d ITH 8x 2T |
DPIACO, Y0(X-6) =4Xx -6 {1, x=9

JoAX X

=4*%9:9

=36:9

=4:1

71) foo1 Regarer 2023 IR TS 23-

v 1

N

) PTOK

)‘@3

) IR
) TR

wW

4

AT : 2033 T Regp1of 200 ot fRPgp1or Ao 2308 WK QR SFITR WBSIoP
RER POIA BIFRRIART @I 270t 3R w1 SICHIEIER 5751 (O SO AeTsTag3 |
aff 3033 ST ITONR TGO 2T Gy fafifio e | @R [Kiey aft 2@ o e Rerers
QL AT HLANSTRY (T b3 T AT | 2003 FCER AR (PIRAT \3 TN [ e
o aft 21 Rewr o ’RegersT |

72) Walk fast lest you miss the bus.

v 1) should
2) could
3) can
4) will

I : Lest U9 9K clause - Q< structure : sub + should + verb - 13 base form.
SPOLT1R X[A72ICd should I3 |

73) ¢ O JMREAT I I6 1 PRCZA

1) JMSATH 75
2) ATAIRRIT OPLF



3) 59]6% RATsTs|
v 4) IS ATECAIRA A

A ; AT ATCAIRA A DS AT SR AL J1REAT ATFAT 572 ' (STOR IMPFIT (Sb00) |
5936 RMITSTISIK A0 PR S1Cead d1F ' AT gt ' |

74) AUF P AP RCSTG AR QTP 357?

AT 2 P 50ARP RS H AR ST 1T,
1+34+5+7+...+P

AYMd, a=1, d=2

= n/2 {2a+(n-1)d}

=p/2 {2+(p-1)2}

=p2

75) 3v3 13 3 fofsa &151 9972

1) 32

2) 2/3

3) V3

v 4) 3/2

14T : log3v3
= logz 3x 3172
=|Og331+1/z
=log333/2
= 3/2log33
=3/2%x1
=3/2

76) AR APFHG FCF STITM 3AFOI0O 0 @I OREFG?-



AT : TIHATIRL IRACCR AFHG T SIITA BOIOOD | FAHABIRIE AT Py
RPIRMITET QST A1 TR STl IO IOBI0H AT PRI BRIEO | Yob-8 He Aigoifog

ST AT HET BTG AR e 5[ df) ([T 110 2 | SR Soby S
TIFANZ A A1 @CE FTABRG |

77) ¢fD ST 51G 80 | 1T S Ofb FATT Q5T BT AT, T TR 517G 23 | TARSOOE bih
FRUTR TG 0?2

IR

¢fb 514K 51T = (80 x @) = 00
THOT" " = (R x 9) =Wy

0 b D TR A = 200 4+ LY = VY

""" D =Y =VORE

78) Choose the correct sentence.

1) A few of the three boys got a prize

v 2) Each of the three boys got a prize.
3) Every of the three boys got a prize
4) All of the three boys got a prize

T : Y9 @19 plural noun Each, Each of, Either of, Neither of KT {& X ©Yd OKI
Singular verb 5293 | Option (V) - (@ subject T plural @32 verbfb singular 23 |
@@y Sentence - fb past indefinite tense B2 got TWT |

79) ‘A rolling stone gathers no moss.” Here ‘rolling’ is -

1) a verb

v 2) a participle
3) a gerund
4) an adjective

I : (P19 verb 19 Y ing & 2 Y44 adjective 19 P& P ©Yd O participle
I 1 I "roll' verb @] Y ing (151 23 stone W9 adjective ¥R I IR |



80) YV T JfNT AFT IS © THR T FAO M | TG FIGL ST FAO ¢ Td XPA 3O
STERT 152

v 1) 5[ ¢ TD
2) 5¢ T
3) 5¢/>Y TDT
4)Q° [ ¢ TTT

AT 2 S G JfED IS DR O TR
LT (YYX0) "

I ISV Y

= 8b/& TOT

=29/ o TUT

81) Nasim will discuss the issue with Rafiq phone.

AT : Phone - 49 *< determiner the YA over IR AK the dT AR by I | By
AT IPIOA A1 . AT IRpcpd ey [RFIfD f cpied S ar 389G |

82) UG I 20 U< T TI- I IO IR0 A2
1) AP oY

v 2) fasyrar sy

3) oIS W

4) Ty

AT : BTFR FXIA T ST (AT, 0T X Y - fI9)T01, T IS ARTFOR
S, PICS 210 ey Brasra 3onf | eme <Rt it Rows «m|

83) (Fafeid -

) CHTRIN AT AT

2) HIRPd (ARG TRPIR IS
)
)

—

3) O] AYTTIGIK IS
v 4) IR AfTectd KPR IT3Tedd




AT 2 AR ASTOE ITSHTAT ST ¥R SOl diik OB TR0 [RATe (Fafeid Tas
151 AfSTOTo SRPIR ITTod W IR0 |

84) T2 (9T CTY FEA IZE (@ 9 SIS PR, BATIRO GRS PT -

T : ORPTA GTP3] RS (ORPIAS WIRAHT 10 PRI dpvid @HIIH T ( TOHT
GTIRATSTT! BHITd) RoA S I5[F, T4 FORA I @ PR ' S0 o $Ed|

85) fatbd (PTATD QIRATA™ XK 2% 5757

MY : QIR]ATAH AR ATE 512 - PROK AT | G5 TS \3 IFT AP O PIRISIR | {MCAL
TR} TS TGP A 2T 573 |

86) (@19 I @F?

SR

1)
) T
)
)

N

v 3
4

R
R

I 2 S AT &% |

87) What would be the right antonym for 'annihilate’

1
v 2
3
4

obliterate
establish
destroy
extinguish

~— N N N

A : Synonyms of annihilate: abolish, black out, blot out, cancel, clean (up),
efface, eradicate, erase, expunge, exterminate, extirpate. Antonyms of
annihilate: build, construct, erect, put up, raise, rear, set up, establish.



88) x+1/x=2 X, x/(x?+x+1) 93 T1d 35?

[T :x + (1/x) =2
daq,x2+ 1 =2x
a,x2-2x+1=0
., (x-1)2=0
aq,x-1=0

AYd, x/( X2 + x-1)
=1/(12+1-1)
=1/1=1

ax=1

89) 730 JCT AL TGS 8 : @ | IS 30 CFATC TGS PGO?

AT : JOOH AV = 1 X 0B ATH I57
73fb J(GR AMGR WIS 8« ¢ XA

3 I CFAPCER TGO =

82 .2

=YY . 3¢

90) ‘AP’ *=AIL
1) foroy s>
2) B TP
v 3) d% TeFT
4) TP OROFT
AT : 1 A6 e TR ( d, 1, (@, T3, T 307M) S I (T OERFT ST 2, O Al

ORI AT A | T, T AF = TAD, d WHK = WA, 13 & = sKfd, I I = ThIe,
T 3 = WATe, q fRegmst = e |




91) 1Y \3 HfeTo Afore AfGTRC! A2 27

AT = 3714 \3 HfeTo Ir0 ARSI IRTO 2 - - TRRT | ATRPACR B0 2 | IR T IRARH
T @ IR @I ARG T a1 BIP SRR 9% A0 | I AT FO- 1S AT XA T
IRTO (T ST @i - Reie, I64d, o7 8 FRICem @I “IiRkbd 27 a1, T e M T[-R
NGl

92) ‘¢’ WfAfb7 5P Sob1er et

1) ST

)
2) BTl
3) &
v 4) 5T
AT & T AT B3 A7 BHBRT “SIASANSH J T A BEATI BT A | & XTI SBFCO
AT A1 8 o foTerR IRTO SHIRG @ 2 | @& : 6 - 7 BHRT ST 38 I/ BHRA
fog fog =1

93) | cannot spare an instant - IR SEF AT T BTG ?

v 1) TER foeTaTg ST @3
2) QTR QPR TR AR
3) 3R I3
4) T 9P TZS QPR PACO AT T

I : | cannot spare an instant - AR fSeTa@ a7 @3

94) TR *CH % Ko @Tefv?

T 2 3 321 B R 21 Rsvsia 51 ‘7 a7 51 et Rokesd o1 203 Riswesia o)) 73 .
A2 | @4 - fds + Q151 = farsy, fdg + 37 = A, f[Ag + 57 = A



95) “>FR TGP (eS| P TId”- IPIVCO SR’ XD (@I 91?2

v 1

N

)
) ST
3) QR
4) ﬁcxm

AT 2 IS IR0 T IS 2% KT @Il A, Tfe, Jqie, I8, T21d, I, ©OF, I 1 SR T8
QRN 2 I RICTET % 0T | (T4 - W91 QI S]18 51 | A IS ! ST X=it [ReTsy om |

96) V2/(V6 + 2) =

v 1) V3-v2
2) V3+vV2
3) 3-V2
4) V3+2

AT :V2/(V6 + 2)= V2 ((V6 - 2) / (V6 + 2) ((V6 - 2)
= (2V3-2v2)/(6-4)
= V3-v2

97)
select the meaning of the word 'stagflagation’ -

1)
controlled prices

2)
a disintegrating government

3)
cultural dullness

v 4)
economic slow down

98) (3x)° + 3(x)° = P97

v1)4
2)3
3)1
4) 2



AR : 1+3%1
=143
=4

99) T y FIZA QST X HIZA GAF ANOFH IICD PO DT ST A5 ?

1) xy 90T

2) PTG 7
v 3) x/y IO

4) y/x TOT

T = AT S,
ST = 719 / QST
1, 5T = x /'y TOI

100) IR FoA2R ARV RQ AP SRR T (PIA-
1) b1d
2) BRO
3) TG
v 4) IR

AT 2 ARFACCR AR AT R 2AFER TSP G IR | FefeaR-y00
HOER Q3 R 2R Grenfa #fford §61 XIfE B 2Md 2 Q3R T ESM3T6 e Beomid
S X |

A IGR 2% TR “R/PF1 fd I [fFast et omsies a3 fics fofes a3 live.hellobcs.com
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